Indirekte Rede / Frage
einleitendes Verb in der Vergangenheit

Beispiele
direkte Aussage Zeit in der direkten Rede Zeit in der indirekten Rede indirekte Aussage
He said: "l don't work." simple present = |[simple past He said (that) he didn't work.
He said: "l am not working." present progressive = | past progressive He said (that) he wasn't working.
He said: "I will not work." simple future = | would + infinitive He said (that) he wouldn't work..
He said: "l will not be working." future progessive = | would + progressive infinitive He said (that) he wouldn't be working.
He said: "I'm not going to work." going-to-future = | was/were + going to He said (that) he wasn't going to work.
He said: "l would not work." would = | would + perfect infinitive He said (that) wouldn't have worked.
He said: "l would not be working." would + present progressive infinitive =» | would + perfect progressive infinitive He said (that) he wouldn't have been working.
He said: "l didn't work." simple past = | past perfect He said (that) he hadn't worked.
He said: "l was not working." past progressive = | past perfect progressive He said (that) he hadn't been working.
He said: "l haven't worked." present perfect = | past perfect He said (that) he hadn't worked.
He said: "l haven't been working." present perfect progressive = | past perfect progressive He said (that) he hadn't been working.
He said: "l hadn't worked." past perfect = | past perfect He said (that) he hadn't worked.
He said: "l hadn't been working." past perfect progressive = | past perfect progressive He said (that) he hadn't been working.
He said: "l will not have worked." future perfect = | would + perfect infinitive He said (that) he wouldn't have worked.
He said: "l will not have been working." future perfect progressive = | would + perfect progressive infinitive He said (that) he wouldn't have been working.
He said: "l wouldn't have worked." would + perfect infinitive = | would + perfect infinitive He said (that) he wouldn't have worked.
He said: "l wouldn't have been working." would + perfect progressive infinitve ~ =» | would + perfect progressive infinitive He said (that) he wouldn't have been working.
direkte Frage indirekte Frage
He asked: Who is ill? Fragewort ist Subjekt > = | He asked who was ill.
He asked: What are you doing? Inversion 2 SVO = | He asked what you were doing.
He asked: What is wrong? Fragewort ist Subjekt > = | He asked what was wrong.
He asked: What are you talking about? Inversion 2> SVO = | He asked what you were talking about.
He asked: Who(m) are you talking to? Inversion 2 SVO = | He asked who(m) you were talking to.
He asked: With whom are you playing? Inversion 2 SVO = | He asked with whom you were playing.
He asked: Why have you done that? Inversion 2 SVO = | He asked why you had done that.
He asked: When will you come? Inversion 2 SVO = | He asked when you would come.
He asked: Where do you live? Frage mit to do / Inversion = | SVO, to do fallt weg = | He asked where you live?
He asked: Are you coming tonight? kein Fragewort, Inversion = |if=0b,SVO = | He asked if you were (are) coming tonight.
He asked: Is she ill? kein Fragewort, Inversion = |if=0b,SVO = | He asked if she wasiill.




